spectrum number fa (107" erg em™2s7'47") fa (1077 erg em™2s7'47")

& and x

0.5

15

10

bad:2131=0.52%

1.5

Mean Spectrum

IIIII_'I'_III IIII‘I!IIIII'L'I_‘lII!l’I_I‘

AVG

cont
Fe2

BLR

NLR

.!75'““
5000
A (&) z = 0.26509

3000

RMS Spectrum
BLR 7050 NLR 800 km/s

l_'I'_I_I"_ TTTT I!IIIII'L'I_‘lII!lI_l"I_I‘IllllllTrr\'\

noga
"o | raw
"

AQ@R) z=

0.26509

x(A\t) = ( Data — Model AC5 ) / o X

I A AR “v'l"\”‘

Bl

et Cog b e
B e R A s I TR
o A b |

AR R
Vi

T AR A R O
ol h IR o AT LR 0 et TR e o e A
Ao T s e

AT T
0 Ly ““““;“‘;‘:‘.;“g‘\“; N‘\H\’: \:‘1\‘0\“:““,\\“. A

o AR
Hin LT TRl Ol e
e e N

T
L AL R e N Iy

""‘"‘J“‘\I‘H" Ml il LR i il

gL
I
lii

LT el i R

AL AT et AR A S U
"\‘H G MUt 1 T e AL ) H‘l"m‘n‘hu”\\“” “\‘\‘H\‘\‘wh\" i ulfh \‘\\Hl“\ I ‘u‘ \‘" b
BN R AT e SO e S

L e

it ‘1‘{“\:““\:':‘ “““41‘\'\

ARG R S St .
ST A g “‘ M | TIPS Mo bt
i R GG E

if IR ‘n“v‘.‘.“‘!\"““‘:.‘;“‘:“!\‘:‘::J“l““lzv” ““w i

i | ) (T
N o e AT AR i Ty
”““‘i“”u“\“”ﬂ‘“‘su11‘\““1'“\ "““w““\‘v "‘“m‘u‘”"‘\‘ L N e D N L T “‘l‘w‘ 1 v‘w-H i |
A M e “”"“‘ TR Rl "‘u“'”}u\‘ 7“'\‘””””‘"w (Mt ulHA““““m‘w‘\\‘u‘”“h‘u,‘ o
Al A S S A
(ool ‘;‘v"‘“hl‘” y

L e
5000 6000
A (B) z = 0.26509

et A
e i ‘\‘;!Hg‘w.‘.g“ !

4 = 0.015(25) x = 0.941(77) => 0.941(76)
med(mad)

rm320

' e
IIIIIIIIIIIIIIIJI.II

4000
A@)z=

5000
0.26509

6000

—cont

| RMsx

model

-1

-2

f) (10717 erg em™2s7'87")

o
=
m

& and x

Continuum Lightcurve
med(mad)%
T T

-2

Ac(48178) 0.1(9.2)% S/N 227

MJD — 2450000

BLR Lightcurve

— T T T T T T T T T T T T
w L 4
ot 4
o 4
£ " " 1 " " " " 1 " " " " 1 " " " " 1 " " 14
7000 7500 8000 8500 9000
MJD — 2450000
Corrections
w rm320
- - T T T T T T T T T T T T T
o[ ]
g L PR S [ S S R S SR S S S S S R ' |-

7500 8000

MJD — 2450000

u = 0.0146(142) x = 0.938(35) => 0.938(35)

0
-

med(mad)

o[ ]
o

o ——pt — b
-|| 1 |||"|||||| 1 PR 1

8000
MJD — 2450000

7500



